EAGRAROBREERT — 2 N— ABISH —F

202055828 (£) 1EEE7H

m#5%4ﬁi 175X B2 (xwlw | lmEmml - v ) s
[A&4) 1 7% :7,600,000 23 :3,000,000 " ~ 33 :1,900,000 3 43 :1,100,000 @ 5 j& :760,000 M
& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
. Ihd=5 . — 4148
117113 #9> KA+0O7 [B) 4 4 ’\;Qé_é_’%” 1.(0_8).5 2-2 36.6 | 98.1 1 <4+726) Ié%kg_@i)
R:O—RHFO7 B3y FFAFECR i eie
5 s 4 | FWEEH 1:08.7 1-1 36.9] 96.2 | 2 452 | TEIRER (%i#)
2 6 NFTay ¥¢54.0 (1 1/8) (-4) AR E
LANZ—kE21—X BA4F/¥oay Rty FESA
: 2 5 | ERAR 1:09.7 16-15 | 36.4| 87.1 | 6 466 | REFE— (EH)
3 11 7ARAOT I 253.0 6) © T7RAYSTLy K757
R:F4—TTUTLF B:XA—bETLY b ST UL ¢
s THEA : = BE—% (FH)
4l8ligl @7 X UBIN= b LI FE 1(/(\1&;)7 2-3 37.8| 87.4 | 11 :fif) %Jﬁ
RSAXN—k B THAFISA U-M-A
= izg npidich :09. - . . FEERE (FER)
55l g|Wt—2—vtET> (B] B4 e 1(30/94)8 10-9 37.4] 86.0 | 13 ?8;1 mmg—
L:r07x B:xAT77Y— ZHEKE
st 5 | FR— 1:10.0 5-5 37.8| 84.4 | 3 450 | RIS (i)
(CYAVIZ ¥¢54.0 ( 1/4) (6) | ) ESH-TY—F-—x-a=F
R:gr—3I)7> B:NLHLHT =N =t
S v ges SiligN :10. = . . BREhE (EXR)
SLELTY IR i o4 Ex 1(11/02; 5-5 37.9| 8.6 | 5 ;1_764) i
L:AxEFY BRTYLTLTq TIXTT— L
S 3 = 4 6 | WHAHE 1:10. 15-12 | 37.0| 83.3 | 9 502 | DNEEFNR (353d)
YNNG —ATH 454.0 (re P YL e R )
R:d—IWRF7Y2—b B:o—)—r5 BENHS
. « /IREK :10. - . . REFRIE (EiH)
F4TG—JLR 4 4 N 1 (110) 3 11-9 37.7| 81.5 | 16 ;1_724) ?ﬁmt@é:i
LHLFTAN—F BiE—FZX Uy Y & RS
R B ERER :10. — . . ERESL (i)
@FELT L—Jb i 5 . 1(31/%4 5-4 38.3| 81.5 | 12 (4_378) il
R:F4—TALNT s B:iACTS HET77—L
. # 5 | HLKsE 1:10.9 5-5 38.8| 77.5 | 4 456 | BERY (FR) . )
111 51(10 55.0 3) 4y | ) AT —45TLy KR
R:YZ28—3IZX8— B:RoAF— #A RE
. 4t 6 | IBHEFDR 1:11.0 5-5 38.8| 76.6 | 14 | 440 |BRFHLT (EH)
12/ 7|14 BX > AX Y v T 55.0 (7 ) g | B IpTT—n
L:TUYA XTI N B —Y—kMXKRL [AYX e ]
j = s 4 | EEXLT 1111 12-12 [38.4| 75.0 | 7 432 | EKZER (EH)
130 12| 7/V—=a=F W 55370 (3/4) 2 ) O—ChL—ssy
LY IRGTA TR BhITINToT NGBS
- = s 44 | BREN 1:11.2 12-12 | 38.5| 74.3 | 8 496 | KEFEIL (35i)
18011717427~ 4540 (3/4) g |EHELE
L:IANXZATNYG B XA IG— b i cie )
LT # 5 | RHEMERE 1:11.6 12-15  [38.8| 71.2 | 15 | 452 |/M&LME (i)
154l 7| ®Fy7¥7 [B] 57.0 @ 1/2 Coy | 8 7ERZZ-#yxD
RN MVTSY BiRTI—K—T Bit4is
. —:s RE®IZ : - eiEEe (BEXR)
16lglis| T-1FArO- [(B] 44 e 1.(172).8 4-9 40.8 | 64.1 | 10 ;1_783) e
R:xIAMO— BAIHYEAL—> KET 7 — L
@ 71 L
) 47.9-36.7
NA>ZA L |9.6-11.0-11.2-12.0-12.1-12.6
® I —F—@EBIERL
13=3F=
230—7—
Fol=5r= 6(13,16)15(3,4,8,10,14)9,5(1,12,7)-2,11
43—7F— |6,13-16,4(3,8,10,14) (5,15,9)-(2,1,12) (11,7)
[ N3
H OB 13 340M 714K 6-13 300M e E 3-7 670M JEHE 6-11-13 2,600
18 B 13 150M 11-13 850M B = 6-13 700M K31 13-6-11 7,690
6 150 6-11 840M B H 13-6 1,260
1 250M

ABRICOVTHRTEEERROODE, THEB LS,




